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1) If f(x)= a®? and f(%):%, then f-1(32)=

A) 2
By 4
c) -2
D) -4
5

E 2

) 2

2) The graph of the function y =3sin|x| , - m=sx=s g , is decreasing on

the interval
A) (-7 0)
B -t

) (5 3)
o) (-Z0

) (-39
D) (— n, - L

B (0 7)
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3) The equation of the adjacent graph is
A) y=-31-*%_1 p
2

B) y=-3*1-1 *

c)y y=23%1-1

1 1-X
D =- (= -1
) 3) _
E)y y=31tXx_1 6

4) If (a, 0) and (0, b) are points on the graph of the function
f(x)= IogS(x+ 1)-1,then a+b=

A) -2
B) 3
c) 1
D) -1

E) 2
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5) tanZZST7T - sec?60° +1 =

A) 0
3
B)
7
)
3
D) =
E) 2

6) If 6 in Quadrant Ill, then cot O =

A) - 3[1 - sin 0

sin 6

B) _ 3{1— sin? 0

sin 6
1+ sin%9
sin 6

Dy - y1+sin%0

sin 0

£) \1-sin?g

sin 6

C)
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7) The domain, in interval notation, of the function f(x) =In (x - x2)
IS

A Q,=)
B) (0,1)

C) (=,=)
D) (=.1)
E) (-=.0)

8) Suppose that the terminal side of the angle 6 in standard position

isgiven by 12x-5y =0, x= 0 ,then %(sec@+csce):

A) -17
B) -7
c) 7
D) -8

E) 17
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9) If the point (- % lzg) is on the terminal side of the angle 0 in standard

position, then tan 6 =

IS El
3
B) -2
C) -3
5 -8
2

10) If x =k isthe solution of Iog3(log4(x - 36)) = 1, then logk =

A) 6
B) -1
c) 3
D) 2

E) 1
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11) If x,y and z are positive real numbers, then,
Iogsx + 4Iogzsy —3Iogsz =

2\,/4

A log XY
) 9.7
8

B) log Xy
5 ,6

2,4

C) log Xy
5 ,3

4

D) log 2y
5 ,6

2

E) log Xy~
5 ,3

12) The graph of the function f(x)= | Iogz(x - 2) | is decreasing on

the interval
A) (0,2
B) (-=.2)
C) (2,3
D) (=)

E) (=,=)
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13) The number of x-intercepts of the graph of y=-2cos nx, - % = x< g :

is

A) 5
B) 1
C) 3
D) 4
E) 2

14) The linear speed of a compact disc is 307t feet per minute. If the
diameter of the disc is 10 feet, then the angular speed of the disc

in revolutions per minute is
A) 3
B) 4
C) 6
D) 5

E) 2
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15) If f-1x) =- «/x +9,x=-9 , then the graph of f lies below the
x-axis on the interval
A) [0,=)
B) (-9.0]
C) (-3,0]
D) (@B.,x)
E) (-=,0]
16) A 10 meters ladder is placed against a wall and forms an angle of 45°

with the ground. If the foot of the ladder is moved away from the wall
the angle changes to 30°. The exact distance moved by the top of the
ladder on the wall is

A) 5/3+1
B) 5(y2-1)
C) 5

D) 35 -1

E) 542
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17) The sum of all the solution(s) of log(x+2)=1+ Iog0 1(x -1) is

18)

A)

B)

C)

D)

E)

Let x>1. If log [x -1=a,then log |2x% - 4x+ 2

A)

B)

C)

D)

E)

-1

1+ 2a
3
2a-1
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If x =a isthe solution of the equation

A)

B)

C)

D)

E)

log 2
og5

I
0953

0

If 6 =12 rad, then csc O =

A)

B)

C)

D)

E)

- csc (4t - 12)
T
csC(— -12

(2 )
csc (12 -

( 2)
csc (12 - 73_71)

csc (4mt - 12)
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125% + 53%*1 = 12 then 3a=
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Testname: MATH 002 TERM 212 CODE 001

1B
2)C
3 A
4 C
5 A
6) B
7B
8) A
9 C
100 D
1) E
12) C
13y D
19) A
15 C
16) B
17 E
18) D
19)B
20) A





